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11+ For You
Paper 12

Please put your name at the bottom of the page.
This 11+ paper contains 80 questions.

You have 50 minutes to complete the test.

Mark all answers clearly on the answersheet.

Make sure any mistakes are erased.
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In the questions below complete the number
sequences with the next correct answer.
Mark the correct answer on your answer
sheet.
9
1 6 18 12 24 18 (?)
2 20 28 32 40 44 52 (7) 10
3 69 64 60 57 55 54 (?)
4 5 10 30 60 (?) 1
5 67 52 37 22 (?)
12
6 45 49 29 33 13 (?)
7 14 28 20 40 32 64 (?) 13
14
8 If Amy’s mother was three times
her age last year and next year her
mother is 38, how old was Amy
two years ago? 15

(subtle

(liner

(power

(decelerate

(football

(drive

(straight

(narrow

(shields

(defend

(hollow

(allow

(criminal
(hoax

suitable

obvious

promote

strength

promote

accept

angular

crossing

attack

pretends

prevent

disagree

detect
suspect

In the questions below select one word from
the top set of brackets and one word from the
bottom set of brackets that are the most
opposite in meaning. Mark your answers on
your answer sheet.

fine)

acceptable)

accelerate)

descending)

league)

relegate)

sea)

wavy)

grouch)

offend)

available)

empty)

trust)
suspense)
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ABCDEFGHIJKLMNOPQRSTUVWXYZ

In the questions below complete the letter
sequences with the correct pair of letters.
There is an alphabet to help you.

Example

ABCDEFGHI

Answer KL

16

17

18

19

20

21

22

DG GE JC MA PY SW (27

RN MR JU EY BB (??)

AA GV LR PO SM (??)

PT NV MW KY JZ HB(??)

KI LE MG NC OE PA (??)

SG WD YA CX EU(??)

EX FW DV GU CT HS (??)

In the questions below select the word that
best goes with each sentence. Mark both
answers on your answer sheet.

Example

Little is to

(large life tiny)

as true is to

(tale false truth) ANSWER = FALSE

23  Rubyisto
(red gem expensive )

As emerald is to
(rock jewellery green)

24  Snooker is to
(game player cue)

As hockey is to
(play goal stick)

25 Sheepis to
(wool farm flock)

As cow is to
(calf grass leather)

26 Poundisto
(England weight Europe)

As yen is to
(yearn France Japan)

27 Handisto
(wrist write fingers)

As foot is to
(ankle socks football)

28 Pitisto
(tip hole dig)

As ton is to
(not heavy tone)
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Paper 12

In the questions below the three numbers in
the brackets are related in the same way

Find the number that complete the final group
and mark it on the answer sheet.

29 (14 [45]3) (21 [110] 5)
@[?17)
30 (25 [39] 14) (76 [135] 59)
(26 [ 2195)
31 (911171 12) (16 [32] 1)
(3[2113)
32 (5[80] 15) (12 [72] 5)
(14[712)
33 (11[24] 1) (18 [66] 15)
(6127 10)
34 (1311171 8) (2 [36] 17)
O[?17
35 (4[32]7) (7 [98] 13)
O[?]112)

In the questions below select the letter that
best completes the word on the left and starts
the word on the right.

Example
gri 7?7 og
ha ?? oll
Answer D
36 shiel ? rill
thu ? ance
37 spit ? legant
peac ? nter
38 fla ? rimace
pi ? aze
39 punis ? ope
mars ? arm
40 jewe ? ength
fow ? ps
41 ski ? eedle
chi ? orth
42 wa ? eality
sou ? uthless
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In the questions below you must match
the number code to the correct word. The
codes are not written in the same order as
the words and one code is not there.

You must then use the codes to answer
the questions that follow:-

HOME MILE FOAL MOLE
5643 8653 5143

43 What is the code for HELLO?

44 What is the code for MEMO?

45 What is the word for 345?

46 What is the code for MILL?

PLAN LAMP PALM PANE
4267 4253 4526

47 What is the code for LANE?

48 What does 45267 spell?

49 What is the code for LEAP?

50 What is the code for LAME?

51 What day will it be two days after
tomorrow if six days after tomorrow it
is Tuesday?

In the questions below you must choose one
word from the top brackets and one word
from the bottom brackets so that a new word
is created.

Example
(time clock speak)
(wish less more)
Answer - TIMELESS
52 (fat moth happy)
(face man her)
53 (large time pine)
(table tree hole)
54 (open truth key)

(lock board smith)

55 (face rely wash)
(ants able hands)
56 (farm snap happen)
(mar net ping)
57 (rest in out)
(hang press spite)
58 (to grew hospital)
(tour ward grown)
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In the questions below a three letter word has
been taken from each of the words in capitals.
Select the word you think is missing from the
answersheet.

Example
The CHER taught lots of lessons.
Answer TEA
59 The boy made a cup of tea for his
MOR.

60 The athlete wanted to run in the
MAHON.

61 When I went to Africa I went on
SAL

62 The manager asked his SECREY to
type the letter for him.

63 Every MIE seemed like an hour.

64 The soldier needed more
AMMUION for his gun.

65 Hansel and Gretel FOLED the
breadcrumbs back home.

ABCDEFGHIJKLMNOPQRSTUVWXYZ

In the questions below find the next pair of
letters and mark it on your answer sheet.

Example

BCisto DE
As EF is to

Answer GH
66 IDisto NB

as AC is to

67 WZistoUS
as IO is to

68 TQisto QV
as HK is to

69 CFisto GA
as DR is to

70 RSisto WN
as CW is to

71 WXisto BF
as JG is to

72 ABisto FK
as UG is to
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Paper 12

In the questions the letters stand for
numbers. Work out the answer to each sum
and then mark the answer as a letter on the
answer sheet.

Example

IfA=1B=2C=3D=5=E=6

What is the answer to this sum as a letter?

A+B+C=(?) Answer=E
73 A=4 B=7C=10D =3E=21

BxA+D-C=

74 A=4B=8C=5D=7E=12

A+B+E+D-A=

75 A=3B=7C=33D=10=E=6

C+A-B+E=

76 A=18 B=7C=4D=5E=38

A-B+C-D +E=

77 A=12B=10 C=4D=2E=36
E+AxC-B=

78 A=70B=5C=12=D=13E=9
EXB+C+D=

79 A=3B=12C=9 D=48=E=0

D+BXA -CXE=

80

If Sam is 19 next year and two
years ago Fred was half as old as
him, how old will Fred be in
three years?
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